BOARD REVIEW QUESTIONS (MM-9-12) – SESSION NO. 6  
December 12, 2001
DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1.
A 70-kg man has stable 80% neuromuscular block induced with d-tubocurarine. Compared with neostigmine 3 mg, antagonism with edrophonium 70 mg will

(A)
be of shorter duration

(B)
be of slower onset

(C)
be less reliable

(D)
produce less change in heart rate

(E)
require more anticholinergic

90A-35 (10)

2.
Which of the following is the most appropriate drug to treat hypotension in patients with asymmetric septal hypertro​phy (IHSS)?

(A)
Amrinone

(B)
Calcium chloride

(C)
Dopamine

(D)
Ephedrine

(E)   Phenylephrine

90A-21 (12,20)

3.  
A 14-month-old child has tetralogy of Fallot with dynamic obstruction to right ventricular outflow.   Which of the fol​lowing is most likely to decrease cyanosis in this child?

(A)
Calcium

(B)
Epinephrine

(C)
Nitroglycerin

(D)
Nitroprusside

(E)
Propranolol

91B-85 (20,44,13,12)

4. 
Neostigmine administered intravenously without atropine can produce each of the following EXCEPT

(A)
arousal

(B)
bradycardia

(C)
bronchoconstriction

(D)
increased gastric motility

(E)
increased urinary bladder tone

90A-103 (10)

5. 
Intraocular pressure is

(A)
decreased by glycopyrrolate

(B)
increased by hyperventilation

(C)
decreased by halothane

(D)
increased by nondepolarizing muscle relaxants

(E)
increased by phenylephrine eye drops


90A-18 (38,11,12)

6.
One week after sustaining third-degree burns over 40% of his body surface area, a patient requires general anesthesia for debridement and skin grafting. Which of the following responses to neuromuscular blockers is most likely?

(A) Clinically insignificant increases in serum potassium concentration after administration of succinylcholine 1 mg/kg

(B) Increased risk of hyperkalemia after administration of succinylcholine 1 mg/kg

(C) Increased sensitivity to vecuronium

(D) Laudanosine toxicity after administration of atracurium 0.4 mg/kg

(E) Normal serum potassium concentration if administration of succinylcholine is preceded by d-tubocurarine 3 mg

90A-94 (9)

7.
A patient receiving propranolol and nifedipine is scheduled for elective coronary artery bypass surgery. During induc​tion with fentanyl and oxygen, heart rate decreases from 52 to 36 bprn and blood pressure decreases from 130/85 to 80/50 mmHg. Administration of atropine 2 mg intravenously has no effect. The most appropriate treatment at this time is administration of

(A)
epinephrine

(B)
pancuronium

(C)
naloxone

(D)
phenylephrine

(E)
calcium chloride

92B-21 (21,12)

8.  When antagonizing neuromuscular block produced by pancuronium, the combination of simultaneously administered anticholinergic and anticholinesterase drugs that is most likely to produce bradycardia is

(A)
glycopyrrolate and pyridostigmine

(B)
atropine and edrophonium

(C)
glycopyrrolate and edrophonium

(D)
atropine and neostigmine

(E)
glycopyrrolate and neostigmine

90B-55 (10,11)

9. 
In the elderly, scopolamine-induced delirium is

(A)
absent with doses less than 0.4 mg

(B)
decreased by pbysostigmine

(C)
reversible with diazepam

(D)
reversible with pyridostigmine 

(E) 
similar to that produced by glycopyrrolate

91B-54 (11, 45)

10.
During carotid endarterectomy, blood pressure suddenly decreases from 140/90 to 80/50 mm Hg. The EKG shows a heart rate of 42 bpm, with normal sinus rhythm and occasional premature ventricular contractions. The most appropri​ate therapy is intravenous administration of

(A)
atropine

(B)
epinephrine

(C)
isoproterenol

(D)
lidocaine

(E)
phenylephrine

92B-45 (21,12,11)

11. Which of the following is the most reliable indicator of antagonism of nondepolarizing neuromuscular block sufficient for airway protection?

(A)
Clinically assessed ulnar nerve train-of-four ratio of 0.75

(B)
Peak negative pressure of 25 cmH2O

(C)
End-tidal PCO2 of 40 mmHg during spontaneous ventilation

(D)
Sustained head lift for 5 seconds

(E)
Vital capacity of 15 ml/kg

92B-69 (9,10)

12.
Which of the following opioids is vagolytic?

(A)
Morphine

(B)
Meperidine

(C)
Sufentanil

(D)
Nalbuphine

(E)
Alfentanil

91B-79 (8,11)

13. Normal pseudocholinesterase

(A)
is highly concentrated at the motor end-plate

(B)
hydrolyzes succinylcholine by Hofmann elimination

(C)
is produced primarily at nerve terminals

(D)
is antagonized by acetylcholinesterase inhibitors

(E)
resists dibucaine inhibition more than its atypical variant

93A-123 (9,10)

14.
The need for increased doses of nondepolarizing muscle relaxants in patients with extensive burns is best explained by

(A)
increased protein binding

(B)
hypermetabolism

(C)
increased glomerular filtration rate

(D)
proliferation of receptors on burned muscle

(E)
decreased volume of distribution

93B-1 (9)

15.
Each of the following drugs is a cause of central anticholinergic syndrome EXCEPT

(A) amitriptyline

(B) atropine

(C) diphenhydramine

(D) promethazine

(E) ranitidine

93B-97 (11)

16.
A 64-year-old, 70-kg woman treated with lithium for manic-depressive psychosis is given methohexital 90 mg and succi​nylcholine 35 mg intravenously for electroconvulsive therapy. Ten minutes later she remains sedated and the peripheral nerve stimulator shows a decreased twitch response. The most likely explanation is

(A) cerebral hypoxia

(B) postictal depression

(C) relative overdose of methohexital

(D) unrecognized atypical pseudocholinesterase

(E) residual lithium effects

90B-25 (27,9)

17.

Following antagonism of a nondepolarizing muscle relaxant with neostigmine, twitch height is normal.   To achieve this effect, the percentage of the acetylcholine receptor pool that must be free of muscle relaxant is


 (A)   10

(B)
25
(C)
33

(D)
50

(E)
75

91A-116 (9,10)

DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

A if only 1, 2 and 3 are correct,

B if only 1 and 3 are correct,

C if only 2 and 4 are correct,

D if only 4 is correct,

E if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


 A
B
C
D
 E

1, 2, 3
1, 3
2, 4
4
All are


only
only
only
only
correct

18. 
A 20-kg, 4-year-old boy receives atropine 0.3 mg intramuscularly one hour prior to inguinal herniorrhaphy under gen​eral anesthesia. Forty minutes later while still in the preoperative preparation room, his temperature is 38.60C. Likely causes of the temperature elevation include  

(1)
malignant hypertherrnia

(2)
alteration of central temperature regulation

(3)
release of catecholamines

(4)
suppression of sweating

93A-56 (11)

19. 
An otherwise healthy patient who is taking a monoamine oxidase inhibitor requires an emergency appendectomy.   True statements concerning the anesthetic care of this patient include:  

(1)
Fentanyl is appropriate for analgesia

(2)
Regional anesthesia is safer than general anesthesia

(3)
Diazepam is a suitable choice for premedication

(4)
Intraoperative hypotension should be treated with ephedrine

91B-114 (12)

20.
A patient recovers from neuromuscular blockade approximately 20 minutes after the administration of succinylcholine 1 mg/kg. This finding is consistent with.    

(1)
term pregnancy

(2)
prior administration of echothiophate

(3)
a dibucaine number of 60 and a fluoride number of 45

(4)
homozygous atypical pseudocholinesterase

91B-174 (9,10,42)

21.
Side effects of atropine premedication include    

(1)
increased physiologic dead space

(2)
mydriasis

(3)
increased body temperature

(4)
relaxation of the lower esophageal sphincter

92B-138 (11)
